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Find the AH for the reaction below, given the following reactions and subsequent AH values:
2 COx(g) + H20(g) — CaHa(g) + 7,2 Oa(g)

CoHa(g) + 2Ha(g) — C,Hg(g) AH =-94.5KkJ
H,0(g) — Ha(g) + % 01 (g) AH =712KkJ
CoHe(g) + '/, 02(g) — 2 COs(g) + 3 H,0(g) AH =-283kJ

Find the AH for the reaction below, given the following reactions and subsequent AH values:
HySO4(I) — SOs(g) + H,0(g)

H,S(g) + 2 O2(g) — SOs(g) + HO(1) AH=-207 kJ
H,O(l) — HyO(g) AH =44 kJ

Find the AH for the reaction below, given the following reactions and subsequent AH values:
Na(g) + 2 0x(g) — 2NO(g)

No(g) + 3Hx(g) — 2 NHs(g) AH=-115kJ
2 NHi(g) + 4 H,O() — 2NOx(g) + 7 Hy(g) AH=-142.5kJ
H,0(l) — Ha(g) + % Ox(g) AH=-43.7KJ

Find the AH for the reaction below, given the following reactions and subsequent AH values:
COx(g) — C(s) + Ox(g)

H,O(l) — Ha(g) + % Os(g) AH = 643 kJ
CHe(g) — 2 C(s)+ 3 Ha(g) AH = 190.6 kJ
2 COxg) + 3 HO(l) — C,Hy(g) + 7 Ox(g) AH=3511.1kJ

Find the AH for the reaction below, given the following reactions and subsequent AH values:
NoHy(l) + CH4O(I) — CH2O(g) + Na(g) + 3Hz (g)

2 NHi(g) — NoHu(l) + Ha(g) AH=225kJ
2 NHi(g) — Na(g) + 3 Ha(g) AH=57.5k]

CH,O(g) + Ha(g) — CH40() AH=81.2kJ



(6) Find the AH for the reaction below, given the following reactions and subsequent AH values:
Y2 Hao(g) + Y2 Cly(g) — HCI(g)

COCly(g) + H,0(l) — CH,Cly(l) + Ox(g) AH=47.5k]
2 HCI(g) + % Ox(g) — H,0() + Cly(g) AH =105 kJ
CH,CL(1) + Ha(g) + %, 01(g) — COCly(g) + 2H,0() AH=-402.5k]

(7) Find the AH for the reaction below, given the following reactions and subsequent AH values:
CoHa(g) + °; 05(g) — 2COx(g) + H2O(g)

CoHe(g) — CoHa(g) +2 Ha(g) AH=283.5kJ
Ha(g) + 72 02(g) — HO(g) AH =-213.7kJ
2 COx(g) + 3H,0(g) — CyHe(g) + 7/, 0x(g) AH = 849 kJ

(8) Find the AH for the reaction below, given the following reactions and subsequent AH values:
HCl(g) + NaNOx(s) — HNO,(I) + NaCl(s)

2 NaCl(s) + H,O(l) — 2 HCl(g) + Na,O(s) AH =507 kJ
NO(g) + NOx(g) + Na,O(s) — 2 NaNOx(s) AH=-427kJ
NO(g) + NOx(g) — N2O(g) + Ox(g) AH=-43kJ
2 HNOx(I) — N>O(g) + Ox(g) + H,0(1) AH =34 k]

(9) Find the AH for the reaction below, given the following reactions and subsequent AH values:
Zn(s) + Y8 Sg(s) + 202(g) — ZnSO4(s)

Zn(s)+ ¥ Sg(s) — ZnS(s) AH =-183.92 kJ
2ZnS(s) +3 Ox(g) — 2ZnO(s) + 2 SOx(g) AH =-927.54 kJ
2S05(g) + 0s(2) — 2 SOs(g) AH =-196.04 kJ
ZnO(s) + SOx(g) — ZnSO4 (s) AH =-230.32 kJ
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